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▼

3.3333m

57.733201955251 µW/cm²

+

https://www.fcc.gov/general/fm-model#result-content



* To Print - On your browser, please select Shrink to Fit under the Scale tab from Print Preview

Hide Tabular Results -Hide Tabular Results -

Distance (m) Power Density (µW/cm²)

Go to the Top of the PageGo to the Top of the Page

Bureau/Office: 

Updated: 

https://www.fcc.gov/general/fm-model#result-content



Output from NADCON for station

                      North American Datum Conversion

                             NAD 27 to NAD 83

                        NADCON Program Version 2.11

                                              

 ==============================================================================

                           Transformation #:    1        Region: Conus         

                                    Latitude                 Longitude

  NAD 27 datum values:           37 42 35.70000          121 28 39.40000

  NAD 83 datum values:           37 42 35.44706          121 28 43.20382

  NAD 83 - NAD 27 shift values:        -0.25294                  3.80382(secs.)

                                       -7.798                   93.170  (meters

  Magnitude of total shift:                         93.495(meters)

 NGS HOME PAGE

https://www.ngs.noaa.gov/cgi-bin/nadcon.prl



FCC Home | Search | Updates | E-Filing | Initiatives | For Consumers | Find People

Antenna Structure Registration

FCC > WTB > ASR > Online Systems > TOWAIR FCC Site Map

TOWAIR Determination Results

New Search Printable Page

A routine check of the coordinates, heights, and structure type you provided indicates that this structure does not require registration.

*** NOTICE ***

TOWAIR's findings are not definitive or binding, and we cannot guarantee that the data in TOWAIR are fully current and accurate. In some

instances, TOWAIR may yield results that differ from application of the criteria set out in 47 C.F.R. Section 17.7 and 14 C.F.R. Section 77.13. A
positive finding by TOWAIR recommending notification should be given considerable weight. On the other hand, a finding by TOWAIR
recommending either for or against notification is not conclusive. It is the responsibility of each ASR participant to exercise due diligence to

determine if it must coordinate its structure with the FAA. TOWAIR is only one tool designed to assist ASR participants in exercising this due
diligence, and further investigation may be necessary to determine if FAA coordination is appropriate.

DETERMINATION Results

PASS SLOPE(100:1)NO FAA REQ - 3427.0 Meters (11243.2 Feet)away & below slope by 27.0 Meters (88.5799 Feet)

Type C/R Latitude Longitude Name Address
Lowest Elevation
(m) Runway Length (m)

AIRP R 37-41-26.00N 121-26-54.00W TRACY MUNI SAN JOAQUIN
TRACY, CA

52.6 1219.5

PASS SLOPE(100:1)NO FAA REQ - 3427.0 Meters (11243.2 Feet)away & below slope by 27.0 Meters (88.5799 Feet)

Type C/R Latitude Longitude Name Address

Lowest Elevation

(m) Runway Length (m)

AIRP R 37-41-26.00N 121-26-54.00W TRACY MUNI SAN JOAQUIN
TRACY, CA

52.6 1219.5

PASS SLOPE(100:1)NO FAA REQ - 3427.0 Meters (11243.2 Feet)away & below slope by 27.0 Meters (88.5799 Feet)

Type C/R Latitude Longitude Name Address
Lowest Elevation
(m) Runway Length (m)

AIRP R 37-41-26.00N 121-26-54.00W TRACY MUNI SAN JOAQUIN
TRACY, CA

52.6 1219.5

PASS SLOPE(100:1)NO FAA REQ - 3545.0 Meters (11630.4 Feet)away & below slope by 29.0 Meters (95.1400 Feet)

Type C/R Latitude Longitude Name Address
Lowest Elevation
(m) Runway Length (m)

AIRP R 37-41-28.00N 121-26-46.00W TRACY MUNI SAN JOAQUIN

TRACY, CA

52.6 1219.5

PASS SLOPE(100:1)NO FAA REQ - 3545.0 Meters (11630.4 Feet)away & below slope by 29.0 Meters (95.1400 Feet)

Type C/R Latitude Longitude Name Address
Lowest Elevation
(m) Runway Length (m)

AIRP R 37-41-28.00N 121-26-46.00W TRACY MUNI SAN JOAQUIN
TRACY, CA

52.6 1219.5

PASS SLOPE(100:1)NO FAA REQ - 3545.0 Meters (11630.4 Feet)away & below slope by 29.0 Meters (95.1400 Feet)

Type C/R Latitude Longitude Name Address

Lowest Elevation

(m) Runway Length (m)

AIRP R 37-41-28.00N 121-26-46.00W TRACY MUNI SAN JOAQUIN
TRACY, CA

52.6 1219.5

Your Specifications

NAD83 Coordinates

Latitude 37-42-35.5 north

Longitude 121-28-43.2 west

Measurements (Meters)

Overall Structure Height (AGL) 16

Support Structure Height (AGL) 0

Site Elevation (AMSL) 43

Structure Type

https://wireless2.fcc.gov/UlsApp/AsrSearch/towairResult.jsp

POLE - Any type of Pole



Antenna Height Above Average Terrain Calculations -- Results

Results

Individual "Radial HAAT" Values, in meters

Input Data

    Latitude      37° 42' 35.7" North

    Longitude   121° 28' 39.4" West    (NAD 27)

    These coordinates convert to NAD 83 coordinates of

      37° 42' 35.45", North, 121° 28' 43.20" West (NAD 83).

    Height of antenna radiation center above mean sea level: 56.5 meters AMSL

    Number of Evenly Spaced Radials = 8 0° is referenced to True North

    Calculated HAAT = -63 meters

Antenna Height Above Average Terrain calculated

using 1 km GLOBE terrain data

                    0°    59.8 m

                   45°    53.4 m

                   90°    37.3 m

                  135°    -6.3 m

                  180°  -214.9 m

                  225°  -320.9 m

                  270°  -144.8 m

                  315°    31.1 m

https://transition.fcc.gov/fcc-bin/haat_calculator?dlat=37&mlat=42&slat=35.7&ns=1&dlon=121&mlon=28&slon=39.4&ew=-1&nad=27&rcamsl=5...


